Nombres et Racines Carrés (H)

V6 400

V36

\5 776

V36

V289

75%

942

86°

30?

Trouvez la racine ou calculez I'exposant.

\2 025 -

V2209 -

V1936 -

V6 084 -

\1 764 -

67% =

32% =

99% =

38% =

75% =

V676

\4 225

V8 281

V3 600

V196

192

312

712

90>
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Nombres et Racines Carrés (H) Solutions

V6 400

V36

\5 776

V36

V289

942

86°

Trouvez la racine ou calculez I'exposant.

=6

=17

= 5625

= 8836

= 7396

=900

\2025 =45
V2200 =47
\1936 — 44
V6084 =78
\1 764 =42
67> = 4489
322 = 1024
99° =9801
38% = 1444
752 = 5625

V676

\4 225

V8 281

V3 600

V196

192

312

90>

=26

=65

=91

=60

=14

=361

=961

=5041

= 8100
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